
 

 

1.  The basic operations performed by a computer are 

A) Arithmetic operation 

B) Logical operation 

C) Storage and relative 

D) All the above 

2. The two major types of computer chips are 

A) External memory chip 

B) Primary memory chip 

C) Microprocessor chip 

D) Both b and c 

3. What is the main difference between a mainframe and a super computer? 

A) Super computer is much larger than mainframe computers 

B) Super computers are much smaller than mainframe computers 

C) Supercomputers are focused to execute few programs as fast as possible while mainframe uses its 

power to execute as many programs concurrently 

D) Supercomputers are focused to execute as many programs as possible while mainframe uses its 

power to execute few programs as fast as possible. 

4. The brain of any computer system is 

A) ALU 

B) Memory 

C) CPU 

D) Control unit 

5. The two kinds of main memory are: 

A) Primary and secondary 

B) Random and sequential 

C) ROM and RAM 

D) All of above 

6. A storage area used to store data to a compensate for the difference in speed at which the different 

units can handle data is 

A) Memory 

B) Buffer 

C) Accumulator 

D) Address 

7. Integrated Circuits (Ics) are related to which generation of computers? 

A) First generation 

B) Second generation 

C) Third generation 

D) Fourth generation 

8. The ALU of a computer responds to the commands coming from 

A) Primary memory 

B) Control section 



C) External memory 

D) Cache memory 

9. The main electronic component used in first generation computers was 

A) Transistors 

B) Vacuum Tubes and Valves 

C) Integrated Circuits 

D) None of above 

10. Which of the following storage devices can store maximum amount of data? 

A) Floppy Disk 

B) Hard Disk 

C) Compact Disk 

D) Magneto Optic Disk 

11. Which of the following produces the best quality graphics reproduction? 

A) Laser printer 

B) Ink jet printer 

C) Plotter 

D) Dot matrix printer 

12. Software in computer 

A) Enhances the capabilities of the hardware machine 

B) Increase the speed of central processing unit 

C) Both of above 

D) None of above 

 


